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9. Nd mapayovTOMOLU|OETE TLE MOUPUOTHCEL

) 2x°—32 PB)2B-Ty" vyl 2k —2x §) 5ax’-80a  €)2(x—1)° -8

Zuvbuacuol mponyoueviey HeBobuwy

@) 2x°—32=2(x"—16)=2(x + 4){x —4)

B) 28-7y'=7(4-x")=T7(2+y)2—vy)

v) 23—2x =2x(x? - 1) = 2x(x + 1){5—1)

8) Sox’—80ct = Sax"—16 ) = Sa(x + 4)(x - 4)

g) 2(x—1)" —8=2[[x—1)2-4] = 2(x=1 + 2){x—-1-2) = 2{x +1)(x—3)
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o) x‘-'yr? —4'-;:' X'+ 4 = y}{x}—d}—tx;— 4) = fx:'—djl I:'u,.-:'—l]=
=[x+ 2)x=2)ly +1)y—1)
6) (" +9)7—36x" = (X" +9) " —(Bx) = (X + 9+ 6x)( " +9 —Bx) =

= (x+3)" (x—3)°
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€) o' —20p+p° —a+P =(a—B)"~ (a—P) = (a—Pplla-P-1)

= (x-y) —wt = oy w)x—y - w)

o) x—2xy+y'—w
0 1-a*+2aB - B* =1- (o —-2aB+P?) =1- ([a—Pf =

=[1-(a=B)[1+(a—-P))=(1-a+B)1+a—f)



